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, d d . 7r d .
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(5) y = 2®log(22® + x) (6) y = arcsin(z? + 1)
(1) y = (2* +2)(2* + 3) (8) y =sin(3z + 1)
(9) y =e"sinx (10) y = zarctanz

0000520 00000
, 1
y=loglz| (x#£0)0000 ¢y =—
T
00005.21 00000
1 /
{xarctanx Y log(z” + 1)} = arctanx

gbobbooogbbbuoooobbboooobbooboood

0 5.16 y=2" (x>0)000000
000000000

logy = logx® = xlogx

91



gbb00000

/
y? = (g;)'loga:—l—x(logx)/ =logz +1

y =y(ogzr+1) =2"(logx + 1)

0517 y=2*(zr>00a000000)00000

[ (z*) = az®? J

O00lgy=calogz0000 2000000

goboboooobboood

goobooogn

(Vo) = (@) = g8 = o
3\/ 2\ 3 ,_1 2\ —3 . x
(VITa) ={(+a) ) = 5(1+a?) 2w = 2

000000000000000000000000000000
D00000000{f(=)}¥*Y0000000000000000
0ooo

0000 5.22 0000000000 0O0OOOOOOO(R)O0O
gbobboooobbbuooobobbbooobbbuoooobn

(1) asive @\ e

92



